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Or perhaps it is a different one — RI7 RN K297 IN

OVERVIEW'

X217 posed a query in a case where a mouse entered a house with a loaf in his mouth
and a mouse was subsequently seen exiting the house with a loaf in his mouth. Are
we to assume that it is the same (mouse and) loaf or not. M901N argues that this
query is valid even according to *27 who maintains XXnw 92p X7 728w 123p.

*

— 7ANIY NI NSMIY NI 299N %299 1999N)
And even according to °29 who maintains that we assume; the one that was

found is the one that was lost; therefore seemingly here there should be no query for since
we found a mouse exiting with a loaf it is assumable that this is the same one that entered since
we generally assume 7aX1w X7 X¥Pw X17. However mpoin rejects this and maintains that

nevertheless -
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Here 27 might admit that we are concerned that it may not be the same mouse,
for presumably the first mouse remained in the house and this one who exited

is another mouse. However concerning graves since there is only concern about one grave
which was lost (which is known to us) it is likely that 7282 72 X7 RXnw 72p.

SUMMARY
The X°y2°X of X217 is valid even according to 27 for here there is a greater concern
that it is a different mouse that exited.

THINKING IT OVER
How can we justify the fact that in these last two n©oIN we are offered
contradictory assumption concerning whether it is or it is not the same mouse (and

loaf)2!*

' This moo1n complements the previous > 71"7 Moo in explaining that s'X27 query is valid both according to 3"2w"
and "2".

% See 'x Ty concerning the dispute between 32w *27 in a "12p 72 TANY 7TV,

? Presumably the mouse entered the house with the loaf to either eat it there or hide it there, why would he leave the
house? Therefore there is room to doubt that perhaps it is a different mouse and a different loaf.

* According to 3"2w1 we argue that even though generally he assumes it is not the same, however here it may be the
same (for 1277 0°230 that it is the same), and according to >27 who generally maintains that it is the same, here
however it is possible that it is not the same (even though noon just argued that here there is 1277 0°231 that it is the
same).
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